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Tri26FE2 A KBHE
Trk26%F2HKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAROD 26,786 34,718 37,086 71,804 BAANEFRAQ 26,774 34,704 37,095 71,799
SNEAERAO 197 235 237 472 SNEAERAO 198 234 237 47
KENMAB 26,983 34,953 37,323 72,276 KENHAB 26,972 34,938 37,332 72,270
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,063 1,431 1,407 2,838 B — Al =2 252 302 341 643 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 792 902 929 1,831 o b ¥ /N 118 160 169 329 HWmE—TH 787 878 993 1,871 wu&aE—THB 6 7 6 13
2 T 75 Hh 35 AKHET T 206 210 233 443 =H 112 146 159 305 WEZTH 554 669 747 1,416 WUE=TH 0 0 0 0
ZA T B Hh 3 N 874 1,003 1,064 2,067 A T S B 71 91 105 196 WE=TH 261 335 378 713 WILE=TH 0 0 0 0
TR s TR 1,024 1,253 1,392 2,645 KEf 203 251 247 498 WEMTH 201 254 293 547 WILEMTHB 0 0 0 0
T/ E i H/E 472 560 607 1,167 EEFE 18 27 27 54 WEATH 777 1,036 1,160 2,196 BWILERTHB 0 0 0 0
K2 A EELW 188 228 264 492 FAFTET 176 177 217 394 FENARTH 88 118 121 239 WILEARTE 0 0 0 0
ma 103 158 155 313 T Hh i FhTET 125 140 160 300 W&EtTH 187 253 271 524 wWLUEtTH 113 165 177 342
iR ithig iR 258 319 368 687 L FrHET 130 175 164 339 HES—TH 0 WILE/NTE 0 0 0 0
AR s ZAR 1L 93 104 138 242 Fa ET 178 220 267 487 HEEZTH 233 321 325 646 WILEATE 0 0 0 0
KE 824 967 983 1,950 PHHET 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 4 8 6 14
dt 2 [E iz ZzE 438 503 516 1,019 i = Hhig Fh T 38 31 48 79 HEEMTH 0 wua+—TH 1 4 1 5
ot B st i 161 197 188 385 BRHET 102 119 127 246 HESRTH 287 357 401 758 BWuE+=TH 0 0 0 0
i) i 188 216 234 450 % 80 78 107 185 HEBARTH 176 230 252 482 BWUE+=TH 0 0 0 0
4 this He 2,855 3,543 3,963 7,506 RifiFE 138 157 191 348 HEELTH 341 402 447 849 INEt 124 184 190 374
HZE A Hhis HES 1,684 2,092 2,294 4,386 AR o ERE—TH 53 59 74 133 HES/NTH 376 486 521 1,007 =1 11,272 15,618 16,457 32,075
A2 &g R2)IE1~4TH 775 979 1,088 2,067 BRE-TH 283 331 364 695 MEABNTHE 261 286 336 622
a2 & Ki2)I185~9T B 1,496 2,353 2,359 4712 ERE=TH 44 64 71 135 AZN&—TH 333 407 458 865
W B & Hhis MWERE 2,147 3,191 3,260 6,451 il 64 64 72 136 KEZJNEZTH 97 122 134 256
¥ 35 A Hhig mES 2,191 3,276 3,303 6,579 izt 36 24 39 63 KZJNE=TH 345 450 496 946
LA Hh i wIlE 124 184 190 374 it 39 52 57 109 KZJNEMTH 0
=11 17,956 23,669 24,935 48,604 hnyE R ER iz INGE 59 59 64 123 KENEBEETHE 243 412 396 808
INAT 77 75 81 156 RENEBATE 561 822 807 1,629 (FH)
AARAERHE- A O£ (IHILEE) §4 5 81 88 105 193 R2NEETH 327 507 518 1025 X5 s 4 5 % i
(LI EH 26 36 40 76 KENEBE/NTBE 365 612 638 1,250 mmEae—TH 164 210 221 431
1T I 4 BRI L 5 = &t HERE 104 111 130 241 KEINEATHE 0 mmE&e=TH 141 156 179 335
5 F st tisE 178 253 299 552 fit] W} 117 150 155 305 MWREE—TH 480 747 714 1,461 EMEXE=TH 138 160 181 341
[Fap il 408 577 594 1,171 TR 101 116 148 264 MREEZTH 121 192 193 385 AmEemTH 115 132 151 283
A6 3 B #thig FEE 393 579 585 1,164 [i] 45 52 57 109 MEE=TH 239 356 377 733 EMXEETH 56 67 67 134
T E i MTE 651 877 905 1,782 HRIR Hhig H 33 4 43 84 MREMTH 259 356 389 745 mAMmXEaNTH 165 195 211 406
HEF 60 62 90 152 BRI 64 68 90 158 MWRERTH 257 393 401 794 mmEaetTH 149 188 212 400
= BE i deiAT R 130 179 196 375 IhEF 72 84 99 183 MWMEENRTH 301 435 428 863 mmxa/\TH 187 228 246 474
B 226 352 378 730 mp 36 47 53 100 MWREETH 269 415 426 841 mAMXaEATH 186 216 239 455
e 46 44 74 118 L3 G 37 4 47 88 MWRE/NTH 221 297 332 629 mmEae+THE 182 215 235 450
+A1 52 77 87 164 E=3i 36 42 46 88 wmEE—TH 280 331 332 663 mmEse+—TH 250 310 323 633
EI\2 131 165 214 379 B/ 13 17 18 35 BEE-TH 361 548 523 1,071 mEmnEe+=TH 215 292 295 587
IRt &R i £33 73 100 128 228 N 5 6 5 11 BEXE=TH 341 541 560 1,101 mmEae+=TH 156 188 207 395
Eiha 55 72 82 154 Gl 31 45 46 91 mBEEMTH 273 421 441 862 mEmnEE+mTH 123 153 178 331
a5 98 140 142 282 BTF 20 30 26 56 BEERTH 354 553 576 1,129 mAnEae+aETH 135 184 169 353
tiae 148 177 198 375 4 2 ik ETF 15 21 22 43 BESNATH 302 523 514 1,037 =X 2,362 2,894 3,114 6,008
tm7 67 91 86 177 e 9 13 11 24 mEELtTH 280 359 357 716
LRt ithig EIA8 95 127 124 251 =2E 8 6 10 16 wmEE/NTH 0 0 0 0
ti¥a9 111 137 153 290 i35 6 6 5 11 INET 11,148 15,434 16,267 31,701
tJR10 89 113 132 245 PNy i 14 11 17 28
WEXN 24 23 21 44 it 30 44 51 95
= REX S 5 5 6 11 [R5 47 57 77 134
LR 66 49 62 111 FIN% & g Emxs 2,362 2,894 3,114 6,008
=11 3,106 4,199 4,556 8,755 =1l 5,724 6,850 7,595 14,445




